Kit contains:
quantity  part
2 7/16"-14 x 2 3/8" studs
19 3/8"-16 x 2" bolts
15 3/8"lock washers
21 1 1/4” thick flat washers
6 1 1/4” thin flat washers
23 square pads
2 7/16"-14 lock nuts
21 round pads
6 3/8"-16 lock nuts
2 horse shoe shims
2 3/8"-16 x 1 5/8” bolts
2 1” flat washers

7/16"-14 x 2 3/8" stud
square pad

1" flat washer
7/16"-14 lock nut

(12

3/8"-16 x 2" bolt

1 1/4” thick flat washer
round pad

square pad

1 1/8" thin flat washer

~' CARPENTER

SINCE

|

4140 Concord Parkway So., Concord, NC 28027
(704) 786-8139 email: info@dennis-carpenter.com
www.dennis-carpenter.com

3/8"-16 x 2" bolt

1 @ 3/8" lock washer

\ 1 1/4" thick flat washer
round pad

3/8"-16 nut

3/8”-1 6 x 2" bolt
3/8" lock washer

1 1/4" lock washer
round pad

square pad

horse shoe shim

@3[8"-16 x 1 5/8"™ bolt

3/8" lock washer

1 1/4" thick flat washer
round pad

square pad

@ 3/8"-16 x 2" bolt
3/8" lock washer

1 1/4” thick flat washer
round pad

3/8"-16 x 2" balt

1 1/4" thick flat washer
round pad

square pad

1 1/4" thin flat washer
3/8"-16 nut

O =2 ONO

3/8"-16 x 2" baolt
1 1/4" thick flat washer

O 5

®3f8"-1 6 x 2" bolt
3/8" lock washer

1 1/4” thick flat washer
round pad
square pad

@ 3/8"-16 x 2" bolt
3/8" lock washer

1 1/4” thick flat washer
round pad

round pad
square pad
.‘ 1 1/4" thin flat washer
™ 3/8"-16 nut
"\

3/8"-16 x 2" bolt
3/8" lock washer

C) 1 1/4" thick flat washer

\ round pad

®

3/8"-16 x 2" bolt

@

square pad

(.l

3/8" lock washer
1 1/4" thick flat washer
round pad




e
oo/




